Assignment 2 Solutions

24. Let p and g be distinct primes. How many generators does Zp, have?

-Zf; has FZ"’P"Z 4 jewa{or‘S‘_
B\, CQ‘L",LI we }(AO‘U ‘,—l\ st *l‘t JQMMI,LGV\S 6'(-\ _ZFZ

are Yhe v'n’regers ros-t.

[ £ < py and j‘d(f‘;)’g)=|
T6 CQ\AV\" 'HWSQ

nede that  Srace

19 aw
hogedlrrg) o) = pn

Th iMeyes v, larzpg

f’m’ne t i
or %/n (ov L,.}h')

Whert p]r ar f’,lf,--)(q,-l)p J

+he fn-lejws r o, 15’4191 Whert 4| r ae

i/zi) ) (f")tl, ard

P

Yheve
Gre O’—- l> +@- l) I"\"'jch A |/_‘/ P4 wot w'r-h'uly Pree o Py
ZF’/ has (F}"') - (F”)‘(Z")= Po—p—9 4+l Senewtors

of order d.
W Cince (his ¢ ya]rc = (= o> for Some ac G1.
ard  lal=lGl= m TE dm

39. Prove that if G is a cyclic group of order m and d | m, then G must have a subgroup
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13. Let 0 = 01 - -0, € Sy, be the product of disjoint cycles. Prove that the order of o is
the least common multiple of the lengths of the cycles oy, ..., 0m.
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